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2
D
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3,000 4,000mm
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c)

d)

2)

3)

®

*

1.5
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CARIB CODE PART2/Sec.3

10



3-2-2

3-2-2-1

@
D

R=7_5m R=12m 9
i=16.6% i=12% 10
3-29
8. 8-2 3
V=40km/h 30km/h
3-29
( ( )
1 6,700 640
2 5,700 590
1 1,600 50
2 1,700 330
1 1,700 70
2 3,200 60
3-30
3-30
km/hr 40 30
60 (50) 30
1/100 1/75
40 30
% 7.0 (10.0) 8.0 (11.0)
( 35 25
450 250
450 250
)
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25t

CARIB CODE PART2/Sec.3

H W
H=K* x W
K ZC1l1SK
z 0.5
C m
0.12(=1/15V T)
| 1.0
S C CS 0.14
K 2.0 0.8 2.0
M
T K’
0.3 sec 0.14 K 2.0
1.0 sec 0.07
5.0 sec 0.035
K =0.14
)
PC- 0 4=400kgf/cm?
O 4=240kgf/cm?
0 4=180kgf/cm?
)
SD35 SD295
)
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12712.7

3)
4)
3-10
0.50 3.00 3.00
2% i 2%
|
i
3-10
W 7.50m
7500
750 6000 750
3000 3000
%
3 50 |5 8| 152
Y 3 _aoy
3-11
)
1 (kn.10+840 km.11+220)

4am
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3-11

380m
12%



. (km.10+840)  km.10+940

e km.10+940 km.11+120

e km.11+140 km.11+220

6.0m

W=0.5m
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3m
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2)

1.5m m

km.5+855 km.5+960

10

V=30km/h

49m

A2 3m

6m
8m
im

5m

5m
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R=50m

5m

8m

8%

5.5cm



3)

1:1.5

132.035m

-0.968m

+1.000m

+0.110m

132.177m
R=250m

1

25m 7.8%
6.0m

3-89

30km/h

R=40m

Al A2
(R=250m)

0.75m

6.0m

R=100m

6.2%

1:1.0

8.5m



0.75m

)
[ ]
o 2m
4)
40km/h
11.0m
4m )
60km/h R=150m S
EC R=180m
54.600m
-0.647m
+1.000m
+0.110m
55.063m
0.6%
L=35m
i)
6.0m 0.75m
6.0m
0.75m
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5)
D)
2
M ( /12h)x X G )x
1,388 /12hx 1.26x 1.13% 0.099x 0.5
98
L (100 )
)
1
M ( /12h)x x G )x
1,249 /12hx 1.26x 1.13x 0.099x 0.5
88
L (100 )
)
1
@) ( 712h)x x G )x
1,349 /12hx 1.26x 1.13% 0.099x 0.5
95
L (00 )
4 L
)
CBR 2
5cm
20cm
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(12
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t 20cm
(TA" ) 17.0

t 5cm
t 5cm
t 10cm
t 15cm
(TA” ) 1.00x5 1.00x5 0.35x 10 0.25x 15

17.25 17.0

®)
D

L]

L

L]
2)

50
50
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218.8m3/s

°
. 442 5m3/s
. 465.5m3/s
3)
Manning
3-12
BirchGrove Bridge
50 31000 500
1bon 29000 100D
S, FreeBord . .. T |
Frequency Year 50 H=2.8m Q= . =
o5& \ \1 = /‘j} 3 § §
BRI %, g 73
b = 4t i=1/50
N=0.045
7000 | 14400 7000
30 24400 30
7000 1000
Balthazar Bridge
500 41000 500
1bop 39000 100
1 | __________ FreeBord —— o ____________ } I /
o 2 Frequency Year 50 H=3.5m 0= — 3]
P N = d 8 3
g9 g 59
g7 "
9000 | 21000 | 3000 'N=_1 c{ 3‘15
754 33500 754 ’
1000 1066
St.Cyr Great River Bridge
500 41000 500
1bog 39000 1000)
|
[ ——
g g
g '3
10000 | 19000 10000 'N=_’ o/ (7)35
100 32800 100 ’
7000 060
4) HW.L.
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20

30m
H.W.L.
. 2.6m
° 3.5m
° 4.2m
5)

[ ] [ ] [ ]

[ ]

[ ] [ ] [ ]

(o]

15m
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1.5

40km/h

1.5

m/h

40

1.5

6)
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3-32

m 29.0 39.0
(m%/s) 218.8 442.5
m 21.1 22.2
1 1 2 5m
m 31.0 41.0
3 2
m L=20+0.005
mé/s
1
1 2 3
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50 m

100 m

150 m

1/18

1/17

1/18

1/22

1/23

1/9

1/10

1/6,5

1/6,5

X iXiXiXiX:i0:i0:0:i0 :i0O

1/6,5

1/15

1/22

1/17,5

1/15

1/15

1/16

1/20

1/18

Oi0i0iX iXiXiX:i0 X

Oi0i0i0i0i0i0iI0iI0 |00 I0iI0iI0 {000 i0 {0

1718

X

o

1/32

RC

1/20

1/2
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AW IN|PF
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2.0m

3-34

3-36 3-37

7.5 8.5m
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10 20 30

1 -

2 I

3. —_—

4. |

1 I

2. —

3. I
7

RC
8)
10m
1.0m
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2-1 2-2 2-3 3-1 3-2
2 3
- 31000 31000
,[ 19000, 19900 I ® L. 7500 16000 7500 ]
@u ||® E: T T -—I!®
® ® D @ﬂj@ )
:15.5 +15.5 7.5 +16.0 +7.5
mol_mrr 8000 wom_rgu} m]_zig_ﬁ B0 ﬁ_uilm rm[_mzso 0 ﬁ_m_ﬁ M[-W‘f’ﬂ i ﬁ-ﬂﬂTﬂ
f T 3 t =
T = 0l0p & —1 5ol | 000 0 —
o= =
575‘ 5x1450=7250 [575, 1525 !559 Sx850=4250 ﬁio; 1525 9 [ 0 1525 ‘@ 5x850=4250 650! 1525
115 3 48.0 109 * 10.2 2.1 134 3 11.7 3.2 114 3 10.2 2.1 135 3 11.7 3.2
291.8 3 34.7 2719 °® 32.4 289.4 3 34.4 286.0 ° 33.9 282.6 ° 33.4
X O (@]
0.750 1.05 0.85 1.05 0.85
5 5 5 10 10
2 2
2
14 14 16.5 14.5 16.5
3 3
2 2 2

100
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2-3

2-4

2-1

2-2

20500

20500

§
3

=
65 X 1450=T250 575 |

3 2220=6660 |Z 20 2 A2 | 2X2900=5600 |
147.9 3 67.0 145.9 B 13.9 2.9 205.1 3 17.1 4.8 1916 ° 10.2 2.1
4277 °® 51.3 4529 ° 54.3 489.2 ° 58.7 493.4 ° 59.2
X (o] O
0.875 1.15 0.85 1.53

1.15

14.5

16.5

15.5

14.0
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3-2-3

3-2-3-1

€y
3-13  3-16

3-38 @

a)

10+840 11+220

L=380m

R=10m 100m

6.50m=0.50m( ) 6.00m( )

1=2.0 % I 6.0%

(t=35cm)

L=153m H=10.2 3.9m

L= 15m H=2.5 1.3m

U L=375m

L 297m

b)

5+847 5+960

L=104.6m

R=50m

1=8.0%

8.00m=1.00m( ) 6.00m( ) 1.00m(

1= 2.0% I 6.0%

(t=35cm)

L=14m H=5.0 2.1m

L=92m

L 16.8m

L 23m
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3-39 )

c)
12+883.5 13+001.0
L=86.5m
R=40m
1=7.8 3.2%
7.50m=0.75m( ) 6.00m( )+0.75m(
1=2.0% I 6.0%
(t=35cm)
(t=15cm)
L=148.8m H=0.2 1.4m
L=50m
L=32m
d)
15+910 16+145
L=194m
R=150m 180m
1=4.4 1.78%
7.50m=0.75m( ) 6.0m( ) 0.75m(
1=2.0% I 6.0%
(t=35cm)
L L =388m
L=113m
L=139m
L=33.2m
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3-40

mé 634 205 136 792
2,853 191 283
t=15cm mé 160 83 52 195
t=10cm 104 53 39 96
t=5cm m? 1,015 513 467 955
t=5cm 1,015 513 467 955
m 297 23 139
17
m? 1,219
38 67
M 149
M 375
388
92 113
M 50 33

3-104




'NO.10+840~NO.11+220

Rw—(CR+Sm)—7.50~2.00—24.00 Rw—{CR+5m)—9.60~2.00-88.00

Gr—-A4~240.00
NO.10+840~N0.11+120

do
o
A
A
3/
Ds—U +0.50- 0.50—300.00 Q‘O Qﬁ‘
NO.10+-840~NO.H+140 </
S
7S
Y Y
CS"; =

AT

EMBANKMENT CUT

050 3.00 | 3.00 0.50

7.00

6.50

B3-13 A7 EUh—THEAREE |

3105
|

1




312*

Ds—M.0-1.50-0.50-42.00

NO.5+847~M0.5+889

NO.5+847~N0O.5+960
VENDOW Br. L=.40

+ kA
\ Ds=N.D 1,50 0.50-50.00
! r NO.5+805~N0.5+955 ]
Rw—(Sm)-5.00~3.35-3.50 \ Ryt {Sm)-5100%24048. /“aM
~—y————
Gr—A4-11.00 R %-4 . ’
a0
~0.54920 s =
8 8 +

+
o
o

Z 3,

X G D -
3
oyl P
VT\\ A
STy
A 40.00,,, ij \
4

OVERLAY OVERLAY
38 | e ——
VCL=49 _ R=306
37.850 <8
S+50p % VENDOM Br. L=8.40
36 2 5
5 5
=SS
34
Lot
=) + o
2 2 2 3 21 3% 2
32 il i i e S8 <|g e
+840 1847 +860 +880 5+900 +920 1940 +960

B3-14 YzvRF—LBRREOEASRIR |

A
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NO.124+883.5~N0O.13+001.0
W= @M"
EEEE
8.30
[01.7i5 3.00 , 3.00 0].7F
0.4 ’ 40
Rw=————wl
e - j T
O
’ — o
154 VOL=33 R=25/ N 430177 133.262 |9 132177
c-\h 124921 124+938.5|4+ /12+952 '
A VCL=25 R=544
132 L |
;\,6-'20%-
| “6‘.65}0 /T\_
130 7 130.167
130.875 5/
+3800 VCL= = i
=35 | R=250 3,208
128 \ / 0
2 o)
ng od 00
e}y —| < 0| | © ™0 o »
124 2| e e 2 % 2 2 e S
+880 124900 +920 +3940 +3960 +980 13+ 00 _
| 3-107 |
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NO.15+910~NO.16+145

BARTHAZAR Br. L=4L0

NO.16+042

—A-8.00 =
Wﬁo.wws
NO15+096 —

NC.16+000

—A4-12100
{0.15+987
~N0.15+999

PZAEREMRTE

BARTHAZAR Br. L=41.00 . 0.75.3.00 3.000.7
5 < .
o o
| : : i
VCL=35 R=1061__ ~ yCL=41 R=3417 ~ V0L=35 R=921 VCL=35 R=1336 ,\b :
: AL 7
+
i N 54.946 15-?.1815
] 7549815 16+001 /‘6_52_5 + +054.
Z +0.6% —0.6%
K\ 53,418
54 = T6-+004,
'_ i - - ]56.519
2 ~1.78% i
_52 | —

50
48 !—:J I ’

92 = g s =8 E«‘S &5 2 g8 =5 a2 82 97
46 pre 7 gs o ] 2] g ] A4 e HE Y 34 P e Ao o
NO.15+300 +910  +920 +940 +960 +980 NO.16+000 +020 +040 +060 +080 +100 +120 +140 +145

K3-16 /LAY —LERGEROEARSRR
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@

3-41

3-17

3-19

a)
No.12+921 No.12+ 952
R 40m R 100m
VCL= 35m R= 250m
PC2 T
T 2 1
L= 31.000m
15.05m+1.00m+15.05m
8.30m=( )3.0x 2 ( )0.75%x 2+ ( )0.4x 2
80°
I= 2.00%
( t= 5.0cm t= 3.0cm)
257.3m?
L=73.6m H= 2.600m
b)
No.16+001 No.16+ 042
R 180m R 150m
VCL= 41m R= 3,417m
PC2 T
T 2 1
L=41.000m
19.70m+1.00m+19.70m
8.30m=( )3.0x 2 ( )0.75%x 2+ ( )0.4x 2

75°

1=2.00 %
(t= 5.0cm)
(t= 3.0cm)
340.3m?
L= 76.6m H= 3.500m
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3-42

40N/mm? m 92.7 120.3
30N/mm? 27.8 32.1
24 N /mm? 25.0 33.2
m? 616.4 797.2
PC ton 3.5 6.5
SD295 11.4 14.4
m? 231 306
m 62 82
24N/mm? m 288 332
m? 372 403
SD295 ton 29 33
m’ 968.0 1,132.0
m’ 214 299
3-43

24N/mm? m 6.2

18 N/mm? m 63.0

m 96.0

22
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PROFILE '
300 M ' CROSS SETION OF PC—T GIRDER

0., 750 6000 190 400

00,3600

M Fk] ]

50 250
E]OD

B . SR R

DL=120.00 ' SR *50/ V=35 R=050 ( ]](L %
H o ]
| L 27 o |
GRAD'ENT ‘ %’ 1"53%5“0 KE/ r%_l ‘ ‘
= b e i I T 30, 720 1 3%2120=6360 | 720 1390
[ ) == = rM M w2
PROPOSED == £ 23 = &
HEICHT £y S 8 & =
'u.:“ : — Q : %
CROUND LEVEL 2 = =
== = o = = =
ACCUMULATED S5 7 88 = =
DISTANCE 55 -k 5 = |
s & 8B & & ABUTMENT
gc- g [ R e ] = =) .
DISTANCE == 528 S g
— —— . . Al A2
=2 S =22 = =
o5 oA e = =
STATION Hes £ 85 S 2 8503 8503
+5 F = T + + 4778 £212 NG 4776, 6212 J75H
HORIZONTAL Re . R=100 = = =
ALIGNMENT 55363 =43693 w | % S TP T Ui AN
o @ 6 64 = Ty o ! Skl o |
SUPER = . : __j_____[__é S | 1 =
ELEVATION = = | Hs
_________ J/______- N } -_____...__.l/a%) —_————
| 8 | > E
) = r/ T 8: ,
i g ' I
104 8583 104 04 8593 : IJ(M
B PIER
8620 DESING CRITERIA
| | GENERAL_CONDITION
5 Doalgn Spead ¥ = 60 km/h
Bridga langth {Span Langth) ) 31000 m {2 X 14700 m )
| Total Width 8,300 m
I Langitudinal Gradient 8.200% 7.800%
l § Cross—fall of Carrlage way 2.0 %
ek = Suparatructura Typa PG-T Shapa Qlrdar
! = . . [Abutment A& Ravarasd T~Shape
| [P ACWall
| Foundation Type Spraad Foundation
I — MATERIAL STRENGTH
I = Qirdar & ok = 40 N/mm2
t b= b= Suppar atrveturs Typs |Craes Baam a ek = 30 N/mm2
i Slabr o ak = 30 N/mm?2
| L % Surfase Asphalt Pavamant Thicness S 50 mm
Curb, Hand wall
10 — 9600 e o ok = 24 N/mm2
. ing Stoel [Main Boam SWPRIBL 7T12.7
[Cross Beam SWPR1S 17218
Ralnforalng Stesl SD2956
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PROFILE

4300
400, 750 6000 750 . 400,
g 2 Fpl2E
‘@ 208 2t oo 3

-

1000

ABUTMENT

41000
§0.00 o 40900 50
* 0 19700 00 19700 350
PROPOSED HEIGHT ) v
53953 3
55.00 e ® i! 759953 | ®®
T == .y ’—:! %M S0 H=30m Q=442 5m3/s | %J
g Olile =« il .
50.00 i .
- . = | g _ B A -
45.00 g : | Z‘JM—'] #esliAg
* 5600 I i
DL=42.5 VCL=} ﬁm ] |
o>
£ DS 8 0 6005 B
GRADIENT g/ ) ﬁj % e
PROPOSED § g% a8 g B 2%
= =5 e 2 3 5
CROUND LEVEL)| = e} == E = b
ACCUMULATED|| = =3 25 g 8 75
o [=T=] & oy - Pra =]
DISTANCE g 22 = 8 2 2 ==
8 5 T T =
DISTANCE =2 o a2 = 3 =3
z 2 I s T s =
STATI = = b= S S b=
ON 2 z-.-@ S5 ) ¥ 9 a2
HORIZONTAL R= o
ALIGNMENT L=245.000
SUPER =
ELEVATION S

PLAN

41000

40900

40200

350

19700

\
19700 A\
Q)\’*

GENERAL CONDITIGN

Daalgn Spead V= 80 km/h

Bridge Jangth {Span Langth) 41000m (2 % 19,700 m}
Tatal Wicth 4.200 m
Longitudinal Gradient 0.600% 0.400%
Croza~fall of Garrlage way 20 %

Suparstruoture Type

PC=T Shape Girder

Vv
ov
RQ 6/\
o

PIER
8600
|
|
| %
|
| _
i s
1 B
9400 100

Substructurs Typo Mbutmsnt RC.Rovarsed T-Shapa
[Plor RC.Wall
Foundation Typa Sproad Foundation
MATERIAL STRENGTH
Girder g ok = 4¢ N/mm2
Suppar atrusture Typs |Cross Beam o ok = 30 N/mm2
Slab o ok = 80 N/mm2
Surface | Asphalt Pavament Thikiness = 50 mm
Curd, Hand wall
Substructurs o ok = 24 N/mm2
P in Stacl |Main Baam SWPRIBL 12Ti2.7
{Cross Beam SWPRIS 1T21.8
Reinforaing Stael 5D285
3-112 -

B3-18 /SLRY—LERAREE |




1—1 SECTION

/ /
A _ / . 1000 2000
WATER LI ROCK ( ABOUTA0.5m)
/ DOWNSTREAM_ /
2Pl Qo R ’Q'/ ;gz)
/ 8 kst oonReg | SOSORTE
|
: DA
/ 2
O-,Lao E .
500 1500
i _ SHEET PILE & =1.20m
o]
/A £

2—2 SECTION

70

400 300

200 20

01
€ 547825.509m

N 1340458.840m
El. 10.33m BROD
R S a0san 225m : EXISTING SLAB
7 : El 9.80m : :
S \ ' ] ==l WA A 8

: E §472ez0iam 3650 : 1750 1750 )
El. 10.37?m % REPA.[REMENT
. WIDTH=6.25m

/,_1| 5 10 15 20m
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